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JAEmiE BBy m=/JME =KfE E9ME
BRXRKE 55 0 0
XK 55 0 0
FEK 53 0 0 0 0 -
Ffk 1 0 0 0 0 -
R 1 0 0 0 0 -
EEms 6,154 872 361
¥_H30%E 29 0 0
JAX(B5K)(H30EE) 3 0 0 0 0 -
JX(ZH) (H307E) 4 0 0 0 0 -
JX(E3K) (H307E) 22 0 0 0 0 -
¥_H29E 16 0 0
TR (ZHK) (H29FE) 2 0 0 0 0 -
JX(EK) (H29FE) 14 0 0 0 0 -
¥_H28HE 1 0 0
JX(EK) (H28FE) 0 0 0 0 -
¥_H26%E 1 0 0
JX(ZH) (H26FE) 0 0 0 0 -
EYBR 269 0 0
AT 1 0 0 0 0 ;
hILE 6 0 0 0 0 -
RN 2 0 0 0 0 -
H53 % 5 0 0 0 0 -
nY A 2 0 0 0 0 ;
DEIFE 11 0 0 0 0 -
(FRBR 4 0 0 0 0 -
LYY 3 0 0 0 0 2
IRYE 13 0 0 0 0 -
HZ—L42R 3 0 0 0 0 2
NS 3 0 0 0 0 -
754 4 0 0 0 0 -
FIHYER 7 0 0 0 0 -
WIRIEE 1 0 0 0 0 -
YILASYF 5 0 0 0 0 2
J\THA 121 0 0 0 0 -
EaI 1 0 0 0 0 -
FFIT-) 1 0 0 0 0 -
AL 1 0 0 0 0 -
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AERIE BB =/ME mAfE 1948
ROLVE 24 0 0 0 0 =
(FONAE 0 0 0 0 =
=27 0 0 0 0 -
J—=JLAX 0 0 0 0 -
LAX 14 0 0 0 0 =
OXA>2 AR 1 0 0 0 0 =
s 1 0 0 0 0 -
= 1 0 0 0 0 -
EOTE 1 0 0 0 0 -
Wi} A= 1 0 0 0 0 -
&% 10 0 0 0 0 -
IINFRERE 2 0 0 0 0 -
EXR=E 1 0 0 0 0 -
EREH 1 0 0 0 0 -
R 4 0 0 0 0 -
=Fd 1 0 0 0 0 -
RIEX 1 0 0 0 0 -
BAEZE 1 0 0 0 0 -

it ] 779 7 0
TEAR 3 0 0 0 0 =
hJ 22 0 0 0 0 -
DS 0 0 0 0 -
FF 0 0 0 0 -
IR 0 0 0 0 =
D /= 0 0 0 0 -
HBYYAE 105 1 0 27 27 27
YhE 37 5 0 29 60 47
SvhH4AE 254 1 0 32 32 32
2auh 2 0 0 0 0 -
A4 130 0 0 0 0 -
HAL(EE) 5 0 0 0 0 -
AREF 114 0 0 0 0 -
ARXF (AR F) 3 0 0 0 0 -
ARXF (TRINAF) 1 0 0 0 0 -
ARXF(E) 1 0 0 0 0 -
Y 31 0 0 0 0 -
(CAUA 2 0 0 0 0 -
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HIE GaiE BB =/)MiE =P} 9@
I\YHFAT> 3 0 0 0 0 =
LhT 1 0 0 0 0 =
-1> 4 0 0 0 0 =
5T4v 1 2 0 0 0 0 =
L>a> 1 0 0 0 0 =
FRE 1 0 0 0 0 =
IIE= 5 0 0 0 0 =
BRE 1 0 0 0 0 =
Ry 2 0 0 0 0 =
Eeb o b 3 0 0 0 0 =
ivip) 1 0 0 0 0 =
NI 1 0 0 0 0 =
KR 1 0 0 0 0 =
RBF 26 0 0 0 0 =

(=] 240 3 0
JU->E-Z 7 0 0 0 0 =
AT 07797 41 1 0 23 23 23
YPIZRD 27 0 0 0 0 =
AFYTIVRY 28 0 0 0 0 =
YIIA 4 0 0 0 0 =
Ve 1 0 0 0 0 =
EOVIA>T> 1 0 0 0 0 =
=2 2 0 0 0 0 =
£= 10 0 0 0 0 =
3= 43 0 0 0 0 -
ING 20 0 0 0 0 -
BlEE=E 20 2 0 23 34 29
N 16 0 0 0 0 -
SH(VIR) 3 0 0 0 0 =
BieE 17 0 0 0 0 -

TOMDEFRIE 936 6 0
7H9y+ 6 0 0 0 0 -
PZINGHZ 5 0 0 0 0 =
puhs 1 0 0 0 0 =
oY 2 0 0 0 0 -
4 2 0 0 0 0 =
Ahe>+ 2 0 0 0 0 -
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JAEmiE Bia m=/JME =KfE Ei94E
A5 5 0 0 0 0 -
HERAS 1 0 0 0 0 -
HRFv 136 2 0 22 78 50
HUT57— 8 0 0 0 0 -
E kS 1 0 0 0 0 -
FrRY 95 0 0 0 0 -
17 152 0 0 0 0 -
T 24 0 0 0 0 -
H3337 1 0 0 0 0 -
H3339(E) 1 0 0 0 0 -
H2330(E-E) 2 0 0 0 0 -
3 NIHSS 1 0 0 0 0 -
SY(E) 2 0 0 0 0 -
SYEIY) 2 0 0 0 0 -
SYFHRIY) 6 1 0 23 23 23
ZyF—= 23 0 0 0 0 -
254997 0ya)— 1 0 0 0 0 -
YIN(E) 1 0 0 0 0 -
IhFE 1 0 0 0 0 -
NIHS5S 2 0 0 0 0 -
hEOIY 25 0 0 0 0 -
4N 47 0 0 0 0 -
hTR(E=RTR) 22 0 0 0 0 -
F2 87 0 0 0 0 -
=5 13 0 0 0 0 -
==y 21 0 0 0 0 -
JSF— 0 0 0 0 -
JXTUH 2 0 0 0 0 -
I\ R 0 0 0 0 -
E-v> 13 0 0 0 0 -
JOvay— 16 0 0 0 0 -
INSD 0 0 0 0 -
2R 5 0 0 0 0 -
Syl 64 1 0 40 40 40
e 2 0 0 0 0 -
EOA (Y 7 0 0 0 0 -
SwFar 4 0 0 0 0 -
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AERIE BB =/ME mAfE 1948
w35 1 0 0 0 0 =
Ov+&Xd 1 0 0 0 0 -
JHE 2 0 0 0 0 =
nay 1 0 0 0 0 -
Ez3vh 1 0 0 0 0 -
fEOHE 4 0 0 0 0 =
TRy 1 0 0 0 0 =
TE=>Z) 3 0 0 0 0 -
BRAT 6 0 0 0 0 =
BRARAZF 1 0 0 0 0 -
REZz 2 0 0 0 0 -
RE 1 1 0 24 24 24
R+ 34 1 0 36 36 36
FFSFA(ZVIR) 53 0 0 0 0 -
B+ 1 0 0 0 0 -
EoYr 2 0 0 0 0 =
EERExRF 6 0 0 0 0 -

FMW-KD=E 1,747 104 24
* 11X 390 12 0 21 56 29
7oe 15 2 0 31 38 35
78 0 0 0 0 -
ol 0 0 0 0 =
1F29 26 0 0 0 0 -
X 202 6 1 22 162 62
IA(IME) 36 1 0 27 27 27
h+ 365 4 0 25 42 34
HIRA 4 0 0 0 0 =
AXAZ 1 0 0 0 0 =
hi7 () 1 1 0 63 63 63
h> 29 0 0 0 0 =
FO4I0-Y 69 0 0 0 0 =
*>h> 3 0 0 0 0 =
DA 1 1 0 41 41 41
Fory 34 6 0 21 48 35
= 1 0 0 0 0 =
) 226 63 23 21 380 111
= 29 6 0 21 43 35
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JTE G iE BBz =/ME mAfE 1948
JI(F) 3 0 0 0 0 :
BH52R 0 0 0 0 :
g0 14 0 0 0 0 -
YT 1 0 0 0 0 :
Z4h 29 0 0 0 0 :
29F 1 0 0 0 0 -
2AEE 1 0 0 0 0 :
V%N 1 0 0 0 0 .
hF(Z) 3 1 0 31 31 31
F 18 0 0 0 0 .
FYI\E 3 0 0 0 0 .
FYX 5 0 0 0 0 -
)\ — 6 0 0 0 0 -
(e, 6 0 0 0 0 .
TR 21 0 0 0 0 -
T3 12 0 0 0 0 .
TI—n1)— 27 0 0 0 0 .
T—-> 6 0 0 0 0 .
pIZD 1 0 0 0 0 .
RAR— 2 0 0 0 0 -
h 25 0 0 0 0 .
x0> 4 0 0 0 0 .
£E 40 0 0 0 0 .
IX5IA 1 0 0 0 0 .
SANI)— 1 0 0 0 0 -
5I5>2 2 0 0 0 0 -
y>T 58 0 0 0 0 -
LEY 1 0 0 0 0 -
BYI(2vIR) 2 1 0 32 32 32
TR 3 0 0 0 0 -
W FART 1 0 0 0 0 -
AKOE(ZVIR) 1 0 0 0 0 -
FIRY 1 0 0 0 0 -
i 1 0 0 0 0 -
b=y 1 0 0 0 0 -

(ITE2:] 1,732 465 167
*x 103 53 1 0 39 39 39
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HIERE Biam B/IMVE RBXIE Fi9E
*x 13775 109 99 75 21 4,179 596
x4 )] 814 260 63 21 937 91
* 95 X(BF4E) 84 35 8 24 746 107
* JF ) NO(BF4E) 18 1 0 61 61 61
* DL (BF4) 252 33 9 23 329 86
FA(ZVRA37Y) 0 0 0 0 -
15RY 0 0 0 0 -
s 2 0 38 42 40
IR 42 0 0 0 0 -
IR(E) 1 0 0 0 0 -
A 19 1 0 22 22 22
IINIYI(ZXT) 4 1 0 37 37 37
SR (EIDHY) 12 0 0 0 0 -
ZAN(F2FY) 1 0 0 0 0 -
) 5 0 0 0 0 -
o34 5 3 2 40 517 243
% 1 0 0 0 0 -
Y154 1 0 0 0 0 -
ROA=Z 9 2 1 26 127 77
KAV 19 8 3 34 174 96
5 1 0 0 0 0 -
AUESY 3 2 1 28 121 75
7+ 193 5 1 22 128 51
JH(E) 1 0 0 0 0 -
HEDES 11 0 0 0 0 -
J¥RI(FIE) 1 0 0 0 0 -
e 2 0 0 0 0 -
3JAIYY 1 1 0 36 36 36
IEF 6 1 0 22 22 22
£6F 1 0 0 0 0 -
IR 7 2 0 27 28 28
L7+ 1 0 0 0 0 -
111 3 0 0 0 0 -
LLIZRFE(SYIR) 38 8 4 22 667 210
ETF 1 0 0 0 0 -

*)1% 401 287 170
* & J(THV7IRUSL) 1 1 1 141 141 141
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ERE Biam /Ml BRXIE IE

* 3 J)(7Z97) 33 25 12 23 1,073 196
*FJ(VREFHT) 1 1 0 25 25 25
* FJ)IA(VIRITIRTAIAD) 29 23 9 21 2,761 376
*FJ)(T/)145) 1 1 0 22 22 22
* FJ)A(AZTANR) 1 0 0 0 0 -
*+J(FFF57) 1 1 1 768 768 768
* 3 J(OV57) 10 6 2 39 157 76
* £ J(DVITVEAT(ZETISIAD)) 1 1 0 44 44 44
*/)(AI95 (A J)\F)) 44 44 41 47 11,659 1,671
*FJ(BI334D) 50 35 25 22 7,348 803
* F)I(HYIAD) 1 1 1 2,102 2,102 2,102
*FJ(S155) 3 2 0 31 34 33
*FJ(SAD) 6 5 4 70 1,281 485
* FJACANIAS (BRI IAD)) 10 6 4 27 598 276
*F)3(3>07>X57) 2 1 1 115 115 115
*F /(202 X2) 9 7 4 33 4,425 1,858
* FJ)(AF57) 1 0 0 0 0 =
* ¥ J)(RAF¥ES5Y) 1 1 1 137 137 137
*F)(AXT5Y) 5 3 0 32 56 43
* FJ)A(VFAFH5T) 1 0 0 0 0 =
*F/(YFFHXD) 1 1 1 1,003 1,003 1,003
*FJ7(FX7) 26 19 6 22 590 131
* 3 J(F357) 7 4 0 23 58 35
*FJ(FIHTERE) 1 0 0 0 0 =
*FJ)(Z>F3V47) 1 0 0 0 0 -
* £ J)(ARURF5Y) 1 1 0 42 42 42
* £\ {403 %4) 1 1 0 91 91 91
*FJA(\BFTIXD) 5 0 0 0 0 -
*FJ)I\FAIF) 5 5 4 31 601 358
*F/)3(E3597) 10 3 3 152 291 240
* 3 )(TF)\U45%5) 1 0 0 0 0 =
* £ J)I(RIF5T) 5 3 1 53 166 95
* FJA(ROIAD) 4 3 1 26 221 97
*FJ)I(N157) 20 6 0 23 87 45
*FJ)(NXY5T) 12 9 5 40 2,395 395
* 3 /)(LF5Y) 21 12 2 23 135 63
*FJ(LFVFIAD) 9 7 5 42 794 284
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JAEmiE BBy m=/JME =KfE E9ME
* £ J(LLAATIE %) 3 2 2 243 474 359
s+ JI(EZ5%) 4 4 4 446 837 592
* £ J)(PIRUSTERT) 1 1 0 39 39 39
* £ JI(BEARSA LY - i) 17 15 12 55 1,614 376
* ) HA(TFEFI(IVIR)) 26 20 14 26 6,243 847
FJI(BEAT XT- E2Hh) 6 5 3 62 154 102
FJ(BEARASY - Etth) 3 2 1 53 118 86
¥ 3 0 0
JA(EI3K) (H24 ) 1 0 0 0 0 -
JA(EIK) (H277) 1 0 0 0 0 -
JA(E13K) (H297) 1 0 0 0 0 -
B 460 107 37
P 131 72 31
* 8((77F) 3 1 0 32 32 32
* (1 J)33) 56 51 29 21 869 166
* A(HIVHTE) 2 1 0 28 28 28
*BI(FD) 8 1 0 27 27 27
* B(H7) 4 4 1 49 228 117
* BI(YHE) 3 0 0 0 0 -
* PI(T7RY) 7 4 0 28 94 50
= (EIZH ) 1 0 0 0 0 -
H=(THUHZ) 2 0 0 0 0 -
<3 1 0 0 0 0 -
H(7HY) 1 0 0 0 0 -
H(77) 1 0 0 0 0 -
H(333) 4 1 0 21 21 21
H(9=) 2 0 0 0 0 -
H(Y7H) 1 0 0 0 0 -
(77 3 0 0 0 0 -
fa(hlAv) 3 0 0 0 0 -
a(ur) 4 0 0 0 0 -
FB(ZE-ILRIZNR) 1 0 0 0 0 -
fa(vA) 2 0 0 0 0 -
fa(NeTA) 1 0 0 0 0 -
(LX) 2 0 0 0 0 -
f@a(3vIF) 1 0 0 0 0 -
Ba(AST) 1 1 0 34 34 34




BEmFRGEENERSR (EM30F 4A~TN314F 38 25:t)

TR30F4R28~F3143A308 AIE

* EIOMVTVS@E [ HAETFIRNRMEEFEIRENM MRS TERIN TVET.

iﬂﬂjﬁlﬁa AT ey 55‘§2E{'|§ BRBAFBROBSEESIA(Bg/kg)
HIERE Biam B/IMVE RBXIE Fi9E
=<1 UAVI ) 3 0 0 0 0 -
RA(BRIVIA) 2 0 0 0 0 -
fA(NAIYIR) 1 1 0 25 25 25
R(A/>Y) 3 3 1 76 189 116
R(h) 3 2 0 67 82 75
A(RYR>) 1 1 0 24 24 24
NEEED 3 0 0 0 0 -
R(7YRY) 1 1 0 66 66 66
50- 43, 1 0 0
o 1 0 0 0 0 -
&Zm-F0 229 20 1
EDOC(AV57)(R2)R) 1 1 1 365 365 365
EDZ (L) (BZIR) 1 0 0 0 0 -
FAFW(FZIR) 2 0 0 0 0 -
FLLb 3 0 0 0 0 -
FUKIR 1 0 0 0 0 -
FUKRIR(E) 1 0 0 0 0 -
Fiib 210 19 0 21 67 33
EIFUAR 4 0 0 0 0 -
HRAHAIR 6 0 0 0 0 -
=t/ 31 12 5
I (LRIZE(T) 1 0 0 0 0 -
EO(THT*)(1EE) 1 0 0 0 0 -
EDZ(IIRIRTAIAT*) (1EET) 3 1 1 136 136 136
EQT(FIAT*)(EEIT) 1 1 0 24 24 24
EQZ(IVIT*)(IEET) 1 1 0 100 100 100
EOC(AVFT (A )\F)*)(EET) 2 1 1 3,073 3,073 3,073
EDZ(HISIAT*) (BB 5 3 1 36 165 90
EOZ(RVFHT*)(IEET) 1 1 0 38 38 38
EOT(LFHT*)(IEED) 1 1 0 68 68 68
EDZ(LLAATIE AT *)(IBIET) 1 0 0 0 0 -
Fp30(EMD) 1 0 0 0 0 -
LA 1 0 0 0 0 -
FAEVWIEED) 3 3 2 75 145 118
RO A(TABAE) 2 0 0 0 0 -
HOT* (1E5ET) 1 0 0 0 0 -
(FEWVWEEET) 1 0 0 0 0 -
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JAEmiE Bia m=/JME =KfE Ei94E
BoELS(EY) 1 0 0 0 0 -
DAV (EE) 1 0 0 0 0 -
SEOE) 1 0 0 0 0 -
ROEISE) 1 0 0 0 0 -
KAB(J=<BoAE) 1 0 0 0 0 -
TS 17 0 0
1-2(H5) 1 0 0 0 0 -
(> 0y7) 1 0 0 0 0 -
HB(FUIB) 2 0 0 0 0 -
¥ 1 0 0 0 0 -
HFL 12 0 0 0 0 -
BERABE 2 0 0
SE(ERUE) 1 0 0 0 0 -
E(EOE) 1 0 0 0 0 -
DA 5 0 0
Sv(HYR) 1 0 0 0 0 -
Sy L(TI—RU-) 2 0 0 0 0 -
Sy L(PT*) 1 0 0 0 0 -
S \(A) 1 0 0 0 0 -
HFE_ERBIKESN 5 0 0
ST (EED) 1 0 0 0 0 -
SE(UDOE) 1 0 0 0 0 -
SE(AT R JF) 1 0 0 0 0 -
SE(LEYN-RT) 1 0 0 0 0 -
SZ(BEEE) 1 0 0 0 0 -
it 37 3 0
hEE 1 0 0 0 0 -
W5UK (FLpEE) 2 0 0 0 0 -
WA (BE) 3 0 0 0 0 -
MK 1 0 0 0 0 -
TER(IVIT (A JI\F)*TBR) 5 1 0 87 87 87
CER(ZECER) 2 1 0 84 84 84
234 1 0 0 0 0 -
IO (KE) 1 0 0 0 0 -
5E% 3 0 0 0 0 -
RENOEFOKE) 1 0 0 0 0 -
(353D 7 1 0 53 53 53
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JTE G iE BBz =/ME mAfE 1948
AEKE) 1 0 0 0 0
HT(REDEIHT) 1 0 0 0 0
65 1 0 0 0 0
Fh5 2 0 0 0 0
FEINA 1 0 0 0 0
BCAIK 1 0 0 0 0
e 1 0 0 0 0
LFELINA 1 0 0 0 0
K 1 0 0 0 0
S1-2A 2 0 0
T1-Z(MDA) 1 0 0 0 0
T1-2(5H0) 1 0 0 0 0
Tt 75 12 0
N=7 1 0 0
N\=J(0-Z3U-) 1 0 0 0 0
N=TB4% 74 12 0
A-J(FE-+) 1 0 0 0 0
IRV FF(ET) 1 0 0 0 0 .
() 2 0 0 0 0 .
e 3 1 0 53 53 53
ED(E) 3 0 0 0 0 .
BOLE 35 11 0 21 91 49
BIRY 4 0 0 0 0 -
BIRI(XE) 1 0 0 0 0 -
BIRI(E) 16 0 0 0 0 -
BIRI(E-%) 1 0 0 0 0 -
BIRI(E-E-%) 3 0 0 0 0 -
HKhh 4 0 0 0 0 -
#ast 6,744 991 398
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